EARAROBEEIERT — 2 N— IBISH —F

2018518298 (A) 12@)IIz1H

LN Y > %—f C2=mZA

EEE R

[A~&£] 17 1,000,000  ~ 23 :340,000 @ 37 :200,000 §

4 7% 140,000 B 5 3& : 120,000 M

B\ ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
3 — t 5 | EEKEH 1:32.0 4-3-3-2 |41.2| — 3 455 | fERARAZ (11E)
11111 3IAR=2 54.0 (=) 4 | B) 77 Fids
L:ZZXHvR B:TATa—-Yar T2 RE
Pl[ECE= 132, il . = BRI
208l12 *aI( Ny F 4 4 = 1(312)2 1-2-1-1 | 41.7 4 (4_855) /EE/EPB%%
R iNZ— B:RAhA /U TS
N s — FHEE : ~6-7- - TREEBEA (RHE)
3 NEZIN = o4 s 1.(312>.4 5-6-7-4 | 41.1 1 ;1_5;6) %@;
L:g8— MR B:XToF—y—7> [sd=tie]
> Vs i 5 | EREA 1:32.5 10-10-8-7 | 40.8 | — 2 445 | WAt (J1108)
4 2 I H— 56.0 (1/2) (+2) AFt RER
R:TZRI 48— B:T7Fyvah—FK ® s
= S S 4 6 | HEfE— 1:33.4 11-12-12-12| 1.0 | — 6 442 | EHE— (1)
579/ LTad—=2T 2R 54.0 () (+4) (B) J PN
L:vA7% B:LFsE>RH—IL (B) A -FRL—-ya>BaEI7
(N o4 | EAKER 1:33.9 8-8-9-8 |42.2| — 8 490 | FBEEE ()
EE 7 [N [ e 56.0 2 1/2) (-6) |EEERE
Z:O0—-K7Ih71% B:bFI-F7 RS
[N LB . -9-10- — NARE (TN
717 10| vrrgza—n it 6 e 1(73?:? 9-9-10-10 | 42.1 7 ;1:&52) fg%gﬁ
L:vv IRy b Bi4—UT2 T J—HTr— L
S = vy 4 | EHER 1:34.1 6-5-6-6 |42.8| — | 11 | 440 |WTFEZ (iaf8)
g|8|11| /N TATT T2 g (1 172) o) | ) mEmE
XL IARR N BHATAHIITY #Xett RUMI Z77—4
A E i o4 | Rtk 1:34.8 3-3-5-9 |43.8| — 10 | 467 |FEAKIE (A
9/5|6 I(>>95= 56.0 (3) (-10) FHBHE
LAz JXLLy N BivyarA—I SEHIE
TN BEHE :34. 74~ . - lsEsE (11iE)
10 glLyh—~I> i o 1(7311:5)) 7-7-4-3 | 43.8 9 (4_428) ﬁugi
L:Tv AT Ry h— BRREZ—FT I Eliztve]
. = B4 | FEER 1:35.0 12-11-11-11{ 42.9 | — 12 | 426 |FHAEE (GE)
11 4 ToTa—7)— 54.0 (3/4) (-2) = BEE (B)
LNX—HNK B:.T7FF BORM S
. S, KHEZ : -1-2- - JEH—BI GaFn)
AR ETE 5 i 1.(366).3 1-1-2-5 | 45.8 5 <4+477) b
RixvyUgdyk Bigz/O0—t BEZ %Y K
® I —F—EBIERL
13—%+— | (5,12),6,1,3,11,8,7,10,2,9.4
Aol=5r= 5,12,(1,6),11,3,8,7,10,2,4,9
G§a=7r= 12,5,1,8,6,11,3,2,7,10,4,9
41—+ — 12,1,8,3,5,11,2,7,6,10,4,9
[ RN
B OB 1 670M 714K 1-12 650M e & 1-8 1,970M &R 1-3-12 1,740H
7 B 1 210 1-3 370M | | B B 1-8 4,550/ | | 3EE 1-12-3 13,970
12 210H 3-12 310 B E 1-12 2,290
8 130M4 B H 1=12 4,000

ABICOVWTRDTEEERROODE. TR LIV,




